Unit 11 Review
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represent the side lengths of a triangle. If
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7. Solve for x:
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9. Solve for p and q:
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11. Find the value of each. Round

your answer to the nearest

hundredth.
X Type 0 alcularor.
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12. Find the value tané
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21. Solve for x, y, and z.
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22. The angle of ‘depression from a hot air balloon to
its landing target i 12°,If the balloon i 175 eet

high, find its distance measured along t @
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23. To the nearest degree what is the angle formed with
the ground by a 32 ft. ladder if it is leaning against a wall
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24. An equilateral triangle has side
length 8. What is the length of the
altitude? 20- 6O-90
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25. The length of the diagonal of a

square is 11v/2. What is the length of
each side? Y& =H9=90
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26. Baseball: The basehnes of a baseball field form a square. The dlstance from

home plate to-firs feet. Use the diagram at the right. . ndbase =
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a. What is the distance from home plate to second base? s | N
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b. What is the distance from third base to first base?
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c. The pitcher’s mound is 60 feet and 6 inches from home plate. Is it the midpoint of
the diagonal from home plate to second base? If not, what is the midpoint?
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28. A tree casts a shadow 20 meters from its base. The height of the tree is 30
meters. Find the angle of elevation formed by the end of the shadow and ground,
rounding to the nearest degree. What is the distance from the top of the tree tothe

end of the shadow? Round to the neares hundredth, -
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In AXYZ, m4Y =90° XY = 18 and YZ = 15. Find m4.Z to the nearest degree and the Iength of side
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